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1) There are two points A and B in the plane. The coordinates of A

are (¥, ) = (L0) while those of B are (x,y)=(0, D. A path T connects A

x
and B, and it is described by the equation y =(x-=1)’. Let P= I+y—

x+y

and O=x-~ e -{yz » please compute the path integral  J = IP e+ Qdy

along I' from pomt A topoint B. (25%)
-9 -4

2) Let 4=(4,)=|-27 -6 15| be q 3x3 matrix. If 4, 4, and 4, are jts
~27 12 -3

eigen-values, please find out the sum of these three eigen-values. That is, please

compute the value of QA +a,. (25%)

2
3) A particular solution Y(#) of the differential equation %+4y=cos(2t)

satisfies the initial conditions y(0)=1 and %(0)=0 - That is, y=1 and

-‘T)t) =0 at the initial time r= 0. Please compute the value of ¥(2) at the time
t=4, (25%)

4) A particular solution W(x) of the differential equation X E +y=xe* satisfies

the condition y(1) =0, That is, y=0 at the point x=1. Please compute the
value of y(x) atthe point x=2. : (25%)




